2 0 2 4% (45506 )

/uﬁm i n+*%lz%%%

(FHEZE 9 =)

i ] R B AR S o BT



R
o
ao
e
M

T6EE SR fREFHHIETE (559 %)

T 6 FEERITO ~fREFHHETR (F95) 1T, RITEDLH LA
(Z& D,

(G A% H TR DA IE)

F1k AR TROBEISRAREZ I 268,662 THZEML,
i A% TR OB 2 s Nk 2 v 2 19, 220,006 TH &35,

2 AR TEOMIEDFKED X5 kNG IX 5y & & Oa R0 NI Al
EROBARHTROGFEIL, 1H 1R RARHTRERMENICXKD,

BSRT7TEL A 24 HEEH

SRiTR it MOROOR



Pz Lk Lk Sk L
RS e Nk P R e
Lk
ik A
K 5 fHIERTO%HE i IE %A Ei
TH T TH
18 #AL 1, 361, 054 268, 662 1,629,716
2 e AL 1, 360, 370 268, 662 1, 629, 032
% a 18,951, 344 268, 662 19, 220, 006




K H HIE AT O%E fiOIE % t
T TH T
1 Ea® 127, 722 1,314 129, 036
1 Ba® 127, 722 1,314 129, 036
2 KB E 2, 776, 534 25, 638 2,802, 172
1 #essE Bt 1, 553, 537 14, 152 1, 567, 689
3 AR 485,218 742 485, 960
4 UBLE 576, 653 6, 143 582, 796
5 FHEEREAGIRE 73, 740 3, 675 77, 415
6 EEHE 74, 170 576 74, 746
7 FErTRAE 741 28 769
8 HEAEZE®E 9, 409 322 9,731
3 RA# 8, 128, 984 197, 480 8, 326, 464
1 thafEuts 3, 144, 404 176, 361 3, 320, 765
PR e R R 1, 407, 209 5,078 1,412, 287
3 WEME 1,554, 147 6, 433 1, 560, 580
4 RERRALE R 1,992, 778 8, 668 2,001, 446
6 [E ARG FH IR 28, 127 940 29, 067
4 A 2, 173, 364 5, 148 2,178,512
1 PR A2 606, 067 2, 757 608, 824
2 VEfmE 1,219, 098 2, 391 1,221, 489
6 EMOKPEER 49, 216 852 50, 068
I ¢ 40, 453 852 41, 305
7 pELE 83, 669 2,416 86, 085
1 P 83, 669 2,416 86, 085
8 A% 743,123 8,013 751, 136
1 bAREEE 49, 412 2, 549 51,961
5 Kbt 292, 058 5, 464 297, 522




K H HIERTO%E M OIE % 3t
TH T TH
9 WL 633, 376 1,795 635, 171
IRR(E1%E ¢ 633, 376 1,795 635, 171
10 BHE# 3,303, 205 26, 006 3,329, 211
| BERGE 314, 104 7,593 321, 697
2 INFRCE 423, 233 4, 857 428, 090
3 R 221, 952 2, 450 224, 402
5 thaBEE 1,910, 206 10, 731 1, 920, 937
6 PRIEEFE 174, 176 375 174, 551
53 & 18,951, 344 268, 662 19, 220, 006




e ATk A 1E 7 B S TR A

1 # &
N
(7 A)
= MHIERTO%HE WoO1E % 7t
T T T
18 #hAL 1, 361, 054 268, 662 1,629,716
% A & &t 18, 951, 344 268, 662 19, 220, 006




s )

MOE B oo MO W
12}

E:

z

S%%\

it

e MR

TH

TH

TH
1,314

25, 638

197, 480

5,148

852

2,416

8,013

1,795

26, 006

#* HHIERT D% WO # s

TH TH TH

1 e 127, 722 1,314 129, 036
2 B 2, 776, 534 25, 638 2,802,172
3 RAR 8, 128, 984 197, 480 8, 326, 464
4 it 2, 173, 364 5,148 2,178,512
6 FEROKERE 49,216 852 50, 068
A ¢ 83, 669 2,416 86, 085
8 A% 743,123 8,013 751, 136
9 Wb 633, 376 1,795 635, 171
10 BHE#H 3, 303, 205 26, 006 3,329,211
% & 3 18,951, 344 268, 662 19, 220, 006

268, 662




2 % A
183k AL 268, 662T-11
2 EeBAE 268, 66271
H WERTORE WoOE R at
T L T
1 B AL S 914, 067 268, 662 1,182,729
7 1, 360, 370 268, 662 1,629,032

Eﬁ Y
K % & W o "
TH T
1 MBGRIEILS: 268,662 01 MBEGRHEEIL G A 268, 662
YN
183k A&




3 W W

1R B 1,314TFH
1H ma® 1,314
WO OB oo MO N R i
H HHIERTOFH HHIEAR 7 Lo E %) bl . E ]
—f b= VAN
EREhe | whlk | zom | 0 A
T TH T TH T T TH TH T
1 e 121, 972 1,314 123, 286 1,314 1 517 | OFB AT (R 319
02 #&Kk 115
ik S Ak 115
2 fark 115 03 fkEF24% 172
Mgk 24 7
HIRFY 78
3 BB YL 650 EhihF4 73
ik BB L A A R 4 14
- i 32
4 FFHE 2 T B L e Alede 32
Ot GESHBR) 995
01 Hi B 517
8= B A DS FHE AT B 510
X — N XA SFHE AT R B R R S B Y 7
03 Hik 5 F+ 24 % 478
MENIRTY 249
PR—= [ 2 A DRFHEE B HART Y 123
= N2 A ASFHEEAT AR B T4 106
B 127,722 1,314 129, 036 0 0 0 1,314
23k WiEE 25, 63811
1 REEHE 14, 1521
1 A ey 521, 863 13, 406 535, 269 13, 406 1 1,831 | OB A (RFiR) 10, 948
02 #&EH 4,725
ik S Ak 4,725
2 fark 4,725 03 fkE T4 % 5,226
RERURAI R T4 99
it =24 309
3 BB FYE 5,853 WIRFY 1,730
T 1, 466
- IR S S 75 =24 925
4 bt 997 EJETY 112
H=BIE T IR SRR 585
04 LA 997
ik B L & AR A 850
BHRTARAE S A4 147
OREFFER (B 445
01 M 330
8= B A DS FHE AT FIR B 328
X — N XA SFHE AT R B R R S B Y 2
03 WkE T2 %% ) 115
= [ 2 A DRFHEE B HART Y 62
= N A A ASEHEEAT AR B BT 53
OEFERM - MERNEL (BB 1,643
01 Hi B 1,246
X N 2 A NS FAR AT A S 1,246
03 kB T4 ) 397
= 2 A DRFHEE B HART Y 212
28— 2 A DAL IR 185
O FE (gt 370
01 M 255
= N H A SR FHAE AT P S 2556

1% #Ak 23k WBE

- 10 - - 11 -



23k Wik 25, 638T-11J
LI Rt 14, 1521
WOE oo MO N R
A HHIERT DA HHIERE # : TE ) bl .
' — — IR
RS 4 5 {E Z DA
1 T 1 T 1 1 T
4 SEHEEE 11, 386 371 11,757 371
8 BhALxtiR 2 10, 659 375 11, 034 375
i 1,553,537 14,152 1,567,689 0 0 0 14, 152
2K WBHE 25, 638 T
3TH {EE 742F 1
1 EEREE 484, 118 742 484, 860 742
7 485,218 742 485, 960 0 0 0 742
28K B 25, 63811
4TH R 6, 1431
1 BB 150, 306 5, 280 155, 586 5, 280
— 12 —

i
= B
X 4 & o g
TH T
03 Mk T2 %% ) 115
= [ 2 A DRFHEE B HART Y 62
= N2 A ASFHEEAT AR B T4 53
1 R 256 | ORFHEHEE (S5 371
01 i 256
8= B A DS FHE AT B 255
3 BB YL 115 S— [ H A AEFHEE(T ARG B R AN T2 1
03 Mk T2 % ) 115
= [ 2 A DRFHEE B HART Y 62
= N2 A LASFHEEAT AR B T4 53
1 i 255 | ORERLEL S R (EIFLEH) 375
01 M 255
X N XA N FHAE AT P A S 255
3 kB T 120 03 kB T4% B 120
= [ 2 A DRFHEE B HART Y 64
= N2 A ASFHEEAT AR B T4 56
1 R 512 OFE bOMNREFIE (5o IHEER) 372
01 i 257
8= B A DR LA B 255
3 BB 230 S— [ F A AEFHEE(T ARG B R AN T2 2
03 WkE T2 %% ) 115
PR—= [ 2 A DRFHEEA B HART Y 62
= R E A DERFHEEATL R BT Y 53
OF T~ RARREITERE (BERER) 370
01 M 255
X N XA N FHAE AT A S 255
03 Mk T2 % ) 115
PR—= 2 A DRFHEE B HART Y 62
= N2 A ASFHEEAT AR BT Y 53
2 fakk 2,465  ONKB A (REHR) 5, 280
02 #EH 2, 465
JI=PErS 2, 465
3 B TYE 2,493 03 fkEFX4% 2,493
it =24 148
HRFY 853
4 L 322 T 727

- 13 -

23k B




28K B 25, 638T-11J
4TH R 6, 1431
WO OB oo MO N R

H HHIERTOFH HHIERE # : E %) bl §
ERLHE | sl | 2ol A
T TH T TH T T TH
2 AR 426, 347 863 427,210 863
B 576, 653 6, 143 582, 796 0 0 0 6, 143
28K B 25, 63811
5IH FEAEREAGIRE 3,675
1 PEEERE 72,735 3,675 76, 410 3,675

ARERE

- 14 -

i
= H
X 4y & o g
TH T
IRF R £ 8 75 - 24 469
ik BB A A R 4 296
04 LA 322
B IFHAARE 322
1 R 738 | OMTBUMIHEE (BUgR) 253
01 M 215
X N XA NS FAE AT A A S 215
3 kB T 125 03 kB T24% B 38
= N2 A ASFHEEAT A BT Y 20
/3= N2 A LASFHEEAT AR B T4 18
OEE G PFERRBLEY (BB 253
01 M 215
X N H A SR FAR AT A A S 215
03 MkEF4% B 38
= N2 A ASFHEEAT A BT Y 20
/X— N X A ASFHEEAT AR B T4 18
ORTBifIE IR (BB 77
01 M 66
X N XA SR FAR AT P S 66
03 MkEF4% B 11
2= N2 A ASFHEET A BT Y 5
) 2= N2 A ASFHEEAT AR B T4 6
OFfFEAGHT Aa T (BUgH) 27
01 M 27
= N 2 A N FAE AT A S 27
OBUERERFITES (BLBH) 253
01 M 215
X N XA NS FAE AT A S 215
03 MkEF4% B 38
= [ 2 A DRFHEE B HART Y 20
= N2 A ASFHEEAT AR BT Y 18
1 1,625 | OWkEA(# (g 1,363
02 #EH 1,212
Tk B Aa 1,212
2 fakk 1,212 03 Hik 5 F+ 24 %% A36
Mgk 24 73
HIRFY 356
3 BkE YL 651 EhihFY 316
IRF R £ 8 75 - 24 N927
H=BIE T IR SRR 146
4 JLEHE 187 04 Jy e 187
kB IE A A A 187
OF EERIEARGIREE (R 1,578
01 M 1,120
X N XA SR FAE AT A A S 1,120
03 Mk T4 % ) 458
= N2 A ASFHEEAT A B IR T Y 246

- 15 —




28K B 25, 638T-11J
5IH FEAEREAGIRE 3, 67571
wWOE oo M OW oW R
| WIENTOR | HIEH : iE ) 12 T
ER A | Zoft e
TH TH TH TH TH TH TH
Es 73,740 3,675 77,415 0 0 0 3,675
23 WHEH 25, 638 T
6 ®EH 576 -
pEEeSegiie S 17, 695 576 18,271 576
Bt
Ha 74,170 576 74, 746 0 0 0 576
28K B 25, 63811
7TH AR 28FH
R 716 28 744 28
Ha 741 28 769 0 0 0 28
23 WEH 25, 638 T
S8IH BEAZE®H 322
e =F Y 9, 409 322 9,731 322
~ 16 -

e
IZ I\ gﬁ Djlll E)q
T T
= b2 A WSEFHEEAT A BT 212
Oft ks - B SHlE S — R85 (R 734
01 il 505
IR KA IS FHAR AT R S 505
03 HkBF 4% 229
8= N A A DERFHEEAT AR B HIR T Y 123
R NS A BFHEEEAT IR S 106
2 fark 296 | OfkB A2 (B 576
02 F&kt 296
ik 2 Ak 296
3 B TUE 242 03 Hik B F24% 242
i 18
HRFY 106
4 HLEE 38 EhihFY 83
ik BB LA A R 4 35
04 LA 38
S Bray S s = EE 38
1 28 | OEBHFEFE (FH O HEERR) 28
01 28
IR N A B FHAR AT R S 28
1 177 | OBRB A GRS 87
02 F&kt 50
Wik 2 Ak 50
9 &kt 50 03 Mk B T2 % 31
i 3
HRFY 15
3 B TYE 89 B FY 13
04 EFH 6

- 17 -




28K B 25, 63811

8IH EEZRE 322°F
WOE B oo MO R i
H HHIERTOFH HHIERE g L5 E %) bl . B
— TR y
ERLHE | sl | 2ol I I & |
T TH T TH T T TH TH
4 JLEHE 6 S Bl RS = EER
OEAFYE (BEZAFER) 235
01 M 177
X N XA SR FAR AT A A S 177
03 Mk 5 F- 2 %% 58
= 2 A DRFHEEA B HART Y 31
sR—= 2 A DRFHEEA B ST Y 27
z 9, 409 322 9,731 0 0 0 322
3 RA#H 197, 4801
15 o 176, 361
562, 486 5, 144 567, 630 5, 144 fakt 1,365 | OB A (RBHL) 2, 856
02 #EH 1, 365
JI=PErS 1,365
kB Y% 1,310 03 fkEFH4% 1,310
i 82
HIRFY 470
i3 181 EhihFY 420
IRF R £ 8 75 - 24 174
ik BB L A A R 4 164
o 4 2,288 04 #rﬁ% 181
Bk B LA 4 181
OIE’c‘E%{%Kﬁﬁ%UmHﬁéﬁd/ﬁ (fF RGR) 2,288
7 B4 2,288
IE’:@P&%K&%E‘JIJKJ@&% 2, 288
1, 989, 505 250 | 1,989, 755 250 SR 113 | OFEE AR FE (fEukat) 181
01 iﬁ@ﬂ 113
X N XA SR FHAR AT A S 113
Wik B T2 137 03 JkB T24% 68
= N2 A ASFHEET A B IR T Y 36
3= b H A DEFHERET R Y 32
OFBBum R (AL 69
03 Hik 5 F= 24 % B 69
= [ 2 A DRFHEE B HART Y 37
= N2 A ASFHEEAT AR B T4 32
328, 936 2,766 331, 702 2,766 SR 1,725 o%%;i}qfr% €350 594
305
H%k fakl 305
fakk 305 03 Hﬁk%iéé 249
it =24 18
HIRFY 103
kB Y% 696 B FY 91
Wik BRI T4 ML A AR e 37
g 40
S5ty 40 kB IS A 4 10
Oy —AA ek B 3 (ki) 2,172
01 i 1,725
X N XA SR FAE AT A A S 1,725
03 Hik 5 F- 24 % B 447
= N2 A ASFHEEAT A B IR T Y 238
23K 3k AR
— 18 — - 19 -




3 RAZE 197, 480
1 thatEnts 176, 3611
WOE oo MO N R
A HHIERT D& HHEAA 7 : E ) T §
ERkie | HEE | zof AR
1 T 1 T 1 1 T
6 BEORAEEE 18, 502 540 19, 042 540
#
8 BEMEERIAG 120, 027 167, 661 287, 688 167, 661
fHaAa =
ES
7 3, 144, 404 176,361 | 3,320, 765 0 0 0 176, 361
3 RAZE 197, 480
2T mimE e 5, 0781
1 mElE Rk 793, 775 845 794, 620 845
— 20 —

i
= A
X 4 & o g
T 1
= N & A LASFHEEAT AR B T4 209
1 R 269 | OFBE A FBEH) 150
02 F&kt 52
Tk B S R 52
2 fakk 52 03 fkEFH4% 83
i 3
Wik P2 39
3 BB 204 Eih T4 35
Wik BRI T4 ML A AR e 6
i 15
4 L 15 LS ey R~ B 15
OMREE MR MR EIR S FEARHHER) 390
01 M 269
8= B A DS FHE AT B 268
— [ F A AEFHEE(T ARG B R AN T2 1
03 kB FH4% 121
= N2 A ASFHEET A BT Y 65
= N2 A ASFHEEAT AR B T4 56
1 1,143 | OB AE g 175
03 Hik 5 F- 24 % 175
RSN Y _ B 175
3 BkE Y 175 | Ol R IS SARFT/S 3 B Ifa (a2 (WakiR)
167, 486
01 M 1,143
8 fety 29 8= B A DR EEAT B 1,119
5/;%_ k& A AEFHEET N B R T4 24
08 Jit 29
10 EHE 435 = [ H A AEFHETAREE E GBETYH) 29
10 FH%E 435
THEESL 116
11 &t 3,174 F il A 2 319
11 &BE 3,174
(R, 2,521
12 ZFEk 1,705 I HR A FHOR} 653
12 Zitk A 1,705
AT AEBE 4y AT LB R Z0R 1,705
18 A4 - fiikh 161, 000 18 AdEA - Wilh R O5e ()& 161, 000
IRFTSA SARBARA T4 (GERRBLHE) 138, 000
R OB A4 AT SCRBMAA4 (2 & HINE) 23, 000
1 R 252 | OBBE A% (REH) A33
02 f&ft 801
TREASE 801
2 fakh 801 03 fkE T 4% A941
i 48
WK T2 277
3k RAEH

- 21 -




3k RAER 197,480 T
2 iR 5, 0781
#WOE B oo MO N &R
B WEMOE | WA #% = it Wi i
N . T T
ANy Ay ANy Ay e ANy Ay
7 PR 586, 713 4,233 590, 946 4,233
B
3 1,407, 209 5,078 1,412,287 0 0 0 5,078
— 22 —

i
= E
X 4y & o g
TH T
3 HkEFYE A911 BhFY 245
IRF R £ 8 75 - 24 A1,619
- ik BB L A A R 4 108
4 FEE 107 04 #(ﬁ% 107
A AESE 107
O’iﬁz%ﬁ%fﬁﬁ%% (f kA 282
27 4 596 1 252
X N XA NS FAE AT A A S 252
03 MkEF4% B 30
= [ 2 A DRFHEE B HART Y 15
8= N A D EHERAT A R B Y 15
Ot M mna ER R S E R e (R 596
27 M4 596
1 H e R AR N 2 Bk HH 4 596
1 1,756 | OBkEA# (g 1,287
02 #&KH 680
Tk B S R 680
2 fakk 680 03 fkEFH4% 483
i 40
HRFY 191
3 B TE 1,213 B FY 171
H%E,%%i&ﬁé‘k%ﬁﬁéfﬂéﬁﬁ% 81
£ 124
4 HLEE 124 ik S LA Aaie 124
Omﬁ“%ﬁgﬁﬁ* v N T— 2 (t kA 235
152
18 Afd - Hfilh 460 X N XA NS FAE AT A A S 152
B 03 WE 4% 83
R OB 4 SR— b A A%?@Fﬁ{fﬁﬁﬁééﬁﬁk?% 44
8= 2 A AREHEET B ST 39
Omfﬁ“%f EFHAR (’faa%kn% 460
’é#ﬂé *ﬁﬁb&w)cﬁ% 460
a4 460
O%@%Kﬁ*ﬂ%‘w%f (t kA 167
111
/v— I 2 A 2R AT R 5 M 111
03 MkEF4% B 56
= N2 A ASFHEET A BT Y 30
2= N & A ASFHEEAT AR B T4 26
ON#ETYr 7~ A bEE (@) 1,535
01 Hi B 1,132
X N XA NS FHAR AT A S 1,132
03 Mk T2 % ) 403
= 2 A DRFHEE B HART Y 227
S YA AERHMEET IR B T 176
Ot il 4B 2 8 -3< 0 B HIE (REEER) 549
01 Hi B 361
X N XA SR FAE AT A A S 361
03 Mk T2 % ) 188
= [ 2 A DRFHEE B HART Y 100
= N2 A ASFHEEAT AR B T4 88
3k RAEH

- 923 —




3k RA#E 197, 480 T
3IH REENE 6, 433T-H
WO OB oo MO N R
H FHIERTORH HHIEAR 7 : E ) T .
- — IR
[ WS H 4 5 & Z Dt
T TH T TH T T TH
1 R AL 137,594 5, 653 143, 247 5, 653
Bt
2 REASE 1,091,036 235 1,091,271 235
6 1B TR 34, 443 545 34, 988 545
E= 3
B 1, 554, 147 6,433 | 1,560,580 0 0 0 6, 433
3k RAE 197, 480 T
4 REEALAERE 8, 668TH
2 REREE 1,755, 243 8,668 1,763,911 8, 668
— 24 —

i
= A
X 4 & o &
T 1
1 R 155 | OWREAMFE GRFSTR) 5,351
02 #&Hk 1,821
Tk B S R 1,821
2 Rk 1,821 03 JikB F4% 2,816
TAEFY 120
it =24 116
3 B TYE 2,963 HIRFY 700
T 604
IR S S 75 =24 914
4 bt 714 EEFY 104
VI T 15
ik SR AL A A4 213
04 Jy e 714
=By S e = B iR 714
OFf#E R R FE (75 CER) 302
01 M 155
X N XA NS FHAE AT A A S 155
03 FkE T4 ) 147
PR—= [ 2 A DRFHEEA B HART Y 78
sR—= 2 A DRFHEEA B ST Y 69
1 R 167 OREFYEE (R 235
01 Hi B 167
= N2 A D FAE AT A S 166
3 BB YL 68 S— [ F A AEFHEE(T ARG B RN T2 1
03 MkEF4% B 68
PR— 2 A DRFHEE B HART Y 36
sR— 2 A DRFHEEA B ST Y 32
1 R 477 | OF- &b OMHERIFIRE - BegF¥ (75 SRR 299
01 Hi B 244
X N 2 A SR FHAR AT A S 244
3 B THE 68 03 MkEF4% B 55
PR—= [ 2 A DRFHEEA B HART Y 29
2= N2 A ARFHMEE AR E ST Y 26
O77 IV —YR—bbrx—EHEEE (F5 TED
246
01 Hi B 233
X N XA N FAR AT A A S 233
03 MkEF4% B 13
PR— 2 A DRFHEE BTN 13
1 1,758 | OBkBAH# (g 6, 868
02 #EH 3,072
JI=PErS 3,072
2 Rk 3,072 03 JikB F4% 3,397
it =24 185
TR 1,073
3 BkE YL 3,439 Eih T4 880
3k RAER

- 925 —




3 RAZE 197, 480F
4 REEAAERE 8, 66811
WO B oo MO N R
H HHIERTOFH HHIERE i Lo E %) bl §
ERLHE | sl | 2ol AR
T TH T TH T T TH
B 1,992, 778 8,668 2,001,446 0 0 0 8, 668
3 RAZE 197, 480
618 [EHRESFEILE 9401
1 ERESE 28,127 940 29, 067 940
prYieiEd
B 28, 127 940 29, 067 0 0 0 940
45K AR 5, 148 T
1 REeAE 2, 7157 H
1 PRfdfir AR 89, 340 854 90, 194 854
Brix<d
— 26 —

i
X 4 & o "
TH T
4 JLEHE 399 IRF R £ 8 75 - 24 595
ik BB A A R 4 664
04 LA 399
WEILHMEAMAE 399
ORTZARE Rl F3 (75 T 1,595
01 i 1,595
23— | B A D FHAE R T T S 1,595
ORTY AR FMEFF IR (75 CKER) 205
01 M 163
X N XA SR FAR AT A A S 163
03 Mk 5 F- 24 % 42
= N2 A ASFHEET A BT Y 22
= N2 A ASFHEEAT AR B T4 20
1 R 256 | OfkB A2 (REH) 569
02 #&EH 251
TREASE 251
2 Fekk 251 03 fkEF24% 272
i 16
HRFY 119
3 BB YL 387 EhihFY 107
Wik BRI T4 ML A AR e 30
Je 46
4 L 46 kB ILFMAAIRE 46
OHERFELFE ((ER) 371
01 M 256
8= B A DS FHEEEAT F B 255
S— [ F A AEFHEE(T ARG B R AN T2 1
03 kB TH4% ) 115
= [ 2 A DRFHEE B HART Y 62
= N & A ASFHEEAT AR BT Y 53
2 fakk 1,261 | OB A#E (g 854
02 #EH 1, 261
JI=PErS 1,261
3 B TYE A615 03 fkE T 4% A615
Hitdsk 24 76
HRFY 419
4 HLEE 208 Eih T4 360
IRF RS S 75 =24 A1, 622
3k RAE# 43K LR

- 27 -




45K AR 5, 148 T
1 REeAE 2, 7571
WOE oo MO N R

A HHIERT D& HHIERE # : E ) T §
ERkie | HEE | zof AR
1 T 1 T 1 1 T
2 TR 329, 667 739 330, 406 739
3 R4 126, 161 649 126, 810 649
4 R EREE 38, 637 515 39, 152 515

2
7 606, 067 2,757 608, 824 0 0 0 2,757
45K AR 5, 148 T
210 i 2, 3911
1 IR 2 285, 647 2,021 287, 668 2,021
— 28 —

i
X 4 & o
TH T
ik BB L A A R 4 152
Sy 208
L= By el = B 208
S 510 | OREYE TP R FE (R 739
01 i } 510
X N XA SR FAR AT P S 510
kB Y% 229 03 kB FH4% 229
= N2 A ASFHEET A B IR T Y 123
= N2 A ASFHEEAT AR B T4 106
S 440 | OFLSh R T (75 CER) 370
01 Hi B 255
X N H A SR FAR AT A A S 255
kB Y% 209 03 kB FH4% 115
PR—= [ 2 A DRFHEE B HART Y 62
28— [ 2 A AREHMEEAE AR ST Y 53
OEHIJ PES YR — l~$¥ (7B T3 279
1 # 185
IS | B A N FHE AT R B 185
03 MkEF4% B 94
2= N2 A ASFHEET A BT Y 50
= N2 A ASFHEEAT AR B T4 44
| 366 | QL DREFES < AR EYE (FERTR) 279
01 M 185
X N XA SR FAR AT A A S 185
T BT % 149 03 MkEF4% B 94
SRR H A A%?@Fﬁ&ﬁﬁﬂ%ﬁéﬁﬁk?% 50
28— 2 A AREHMEEAT B ST 44
O?bx/ufﬁ = (@%‘.ﬁ 236
1 # ) 181
X N XA N FHAE AT A S 181
03 MkEF4% B 55
PR—= 2 A DRFHEE B HART Y 27
= N2 A ASFHEEAT AR B T4 28
S 414 | OB A (R L, 471
02 #kk 673
Tk B S R 673
Kk 673 03 JikB F24% 683
TAEFY 6
it 24 41
kB Y% 819 WIRFY 321
T 238
Wik BRI T4 ML A AR e 77
Bie ¥ g 115 ;trﬁ 115
B ILE A A4 115
OATEBREEREY (BIEE4EH) 550
43K LR




43K e 5, 1481
210 i 2, 3911
WOE oo MO N R

H HHIERTOFH HHIERE # L5 E ) bl §
ERkie | HEE | zof AR
T TH T TH T T TH
2 ZALEE 931,911 370 932, 281 370
B 1,219, 098 2,391 1,221,489 0 0 0 2,391
63k EMOKEEE 852-H
1 REE 852-H
1 BEERES 6,170 370 6, 540 370

#
2 EERTHE 20, 400 482 20, 882 482
B 40, 453 852 41, 305 0 0 0 852
7TE PR 2,416 T4
13 pgL#E 2,416 T4
1 PR 52, 262 2,416 54, 678 2,416
— 30 —

i
= i
X 4 & o &
TH T
01 M 414
X N XA N FAE AT A S 414
03 MkEF4% B 136
PR—= [ 2 A DRFHEE B HART Y 73
sR— 2 A DRFHEEA B ST Y 63
1 i 255 | O ZH AR (ISR ATR) 370
01 M 255
X N XA N FHAE AT A A S 255
3 B THE 115 03 MkEF4% B 115
= 2 A DRFHEEA B HART Y 62
sR—= 2 A DRFHEEA B ST Y 53
1 R 255 | OR (LB REHFE @M 370
01 M 255
X N XA SR FAR AT P S 255
3 B THE 115 03 MkEF4% B 115
PR— 2 A DRFHEE B HART Y 62
sR— 2 A DRFHEEA B ST Y 53
2 fakk 230 | OFkB A2 (R 482
02 F&pt 230
Tk B A R 230
3 BkE Y 216 03 JikB T24% 216
i 14
HRFY 93
4 LEHE 36 EhihF4 82
L H=BIE e T IR =R R 27
sty 36
B IFHAARE 36
1 1,171 | OBkBA# (g 867
02 f&ft 458
TREASE 458
9 &kt 458 03 JikB F4% 353
i 27
HRFY 156
3 B TYE 731 B FY 115
L H=BIE e T IR SRR 55
Sty 56
43K LR 63k RMOKEEEE TR MWL

- 31 -




7TE PR 2,416 T4
13 pgL#E 2,416 T4
WOE oo MO N R i
H HHIERTOFH HHIERE g L5 E ) bl P Bl i
ERLHE | sl | 2ol AR L & #
T TH T TH T T TH TH T
4 L 56 T EIFHA ARG 56
OB TG v ¥ —EE R (RIEEEH) 1,549
01 M 1,171
R b B A D FHAE R T T S 1,085
S— [ F A AEFHEE(T ARG B R AN T2 86
03 Mk 5 F- 2 %% 378
= [ 2 A DRFHEE B HART Y 201
= N2 A ASFHEEAT AR B T4 177
B 83, 669 2,416 86, 085 0 0 0 2,416
8k LTA%E 8,013
1H EAREHE 2, 549FH
1 bRk B 49, 412 2,549 51,961 2,549 2 Fakk 883 | OB A2 (gt 2,549
02 F&kt 883
ik 2 Ak 883
3 B TE 1,547 03 fkEF24% 1,547
i 53
HRFY 310
4 HLEE 119 EhihFY 275
IRF R £ 8 75 - 24 803
ik BB L A A R 4 106
04 EFEH 119
B IFHA AR 119
B 49, 412 2, 549 51,961 0 0 0 2, 549
8k LTA%E 8,013
5TH ARt E 2 5,464
1 HRTT A 69, 301 3,173 72, 474 3,173 2 fakE 1,565 | OWEE A (R 3,173
02 F&kt 1,565
B Tk 1,565
3 B TYE 1,441 03 fkEF24% 1,441
i 94
HRFY 444
4 HLEE 167 EhihFY 387
IRF R £ 8 75 - 24 328
ik BB A A R 4 188
04 EFEH 167
M EIFHAARE 167
2 NFEEEE 210, 467 2,291 212, 758 2,291 1 1,763 | OXAREHEYE iR 2,291
01 M 1,763
= N2 A B FAE AT R S 1,651
3 BkE YL 528 S— [ F A AEFHERE(T ARG B R AN T2 112
03 M4 % B 528
PR—= [ 2 A DRFHEEA B HART Y 282
= N & A ASFHEEAT AR BT Y 246
T OBTLE 8k bAR

Z39 - - 33 -



8k A% 8,013
5TH ARt E 2 5, 4641
Fi— 20 BN
A HHIERT DA HHIERE # L5 E ) T §
ERLHE | sl | 2ol AR
1 T 1 T 1 1 T
i 292, 058 5, 464 297, 522 0 0 0 5, 464
93k WEHE 1, 7951
138 HHE 1, 7951
2 FEFEAHEIHPS 78, 766 1,000 79, 766 1,000
#
5 SRFERRE 7,756 795 8, 551 795
i 633, 376 1,795 635, 171 0 0 0 1,795
1 0% #HEZ 26, 006T-[1J
1 HERGE 7,593
2 HERE 202, 725 3, 484 206, 209 3, 484
— 34 —

i
x4 & Gl il
TH T
Fekk 422 | OMBAME (REH 1,000
02 F&kt 422
JI=PErS 422
kB Y% 446 03 fkEF24% 446
i 25
HRFY 149
S5ty 132 EhihFY 130
IRs i 41 75 é 91
ik BB L A A R 4 51
04 AL 132
kB IFHAARE 132
S 243 | OB AT (B 436
03 Hik 5 F= 24 %% 436
IRFFH AT 24 436
Wik B T 24 552 | OH z%ﬁiﬁﬁﬂ%&ﬁiﬁi%ﬁ?% (ETEZ AR 359
01 3 243
X N XA SR FAR AT A A S 243
03 M4 % B 116
= 2 A DRFHEEA B HART Y 62
= N2 A ASFHEEAT AR B T4 54
I 517 | OFkB A2 (REBHR) 2,833
02 F&kt 1,261
Wik 2 Ak 1,261
fakt 1,261 03 fkE F24% 1,114
RERURAI R T4 41
i 76
kB Y% 1,248 WIRFY 454
T 392
ik BB A A R 4 151
S5ty 458 ;trﬁ 458
BItEMA AR 458
Oﬂx@ﬁa i CPRAE R 247
215
X N XA NS FAR AT A S 215
03 M4 % B 32
PR—= 2 A DRFHEE B HART Y 17
= N2 A LASFHEEAT A E B T4 15
Oz a=T 1« A7 —)VF¥E (FREER) 118
83k AT 9k WP 10k HER

- 35 —




1 0% #HEBEH

1 HERBEHR

26, 006 T
7,593 M

WO B oo MO N #
A HTERTO%A HHIEAH 7 : E Jic) it .
: - AR
[ I3 4 5 (5 Z DAt
TH TH TH TH TH TH TH
4 EERISEH 82,129 4,109 86, 238 4,109
HE
B 314, 104 7,593 321, 697 0 0 0 7,593
1 0% #HEH 26, 006 T
2T N 4,857TH
1 PR 386, 326 4, 857 391, 183 4, 857
B 423,233 4,857 428, 090 0 0 0 4,857
— 36 —

i
= A
K 4 & @ o g
T 1
01 M 90
X N XA N FAE AT A S 90
03 M4 % B 28
N~b&4bﬁﬁﬁgﬁﬁﬁéﬁk$% 15
IS— B A LB ﬁ%ﬁ&%%égﬂiﬁ 13
O FFE B (FIREE 286
01 il 212
X N XA NS FAE AT A A S 212
03 FkE T4 ) 74
= N2 A ASFHEEAT A BT Y 39
= N2 A LASFHEEAT AR B T4 35
1 R 2,924 | OFEERIFEHE EFHE CFBREHFR 4,109
01 M 2,924
X N XA N FHAE AT P A S 2,924
3 B TNE 1,185 03 kB FH4% 1,185
2= N2 A ASFHEET A BT Y 552
= N2 A ASFHEEAT AR B T4 633
1 3,450  OMRB A GREH 281
02 #&kt 105
Tk B Aa 105
9 &kt 105 03 JikE 4% 150
Mgk 24 7
Wik P2 67
3 B TYE 1,276 B FY 63
Wik BRI T4 ML A AR e 13
gk 26
4 HLEE 26 S By R = E R 26
O%&%§$¥(¢xﬁ§ﬁ> 745
637
X N 2 A SR FHAE AT A A S 637
03 Mk 5 T2 %% 108
= N2 A ASFHEET A BT Y 75
3= N & A ASFHEEAT AR B T4 33
O D NI E BB R FE CHRBER) 2,188
01 il 1,665
X N XA N FHAE AT A S 1,665
03 Hik 5 F- 24 % 523
= N2 A ASFHEEAT A BT Y 255
) /3= N & A ASFEHEEAT AR B T4 268
OF I TG HEYE (FREBER) 1,643
01 M 1,148
X N XA N FAR AT A A S 1,148
03 Mk 5 F= 24 %% 495
= [ 2 A DRFHEE B HART Y 262
sR—= 2 A DRFHEEA AR B ST Y 233
10 HEH

- 37 -




1 0% #HEH 26, 00611
3 HERE 2, 4501
WOE oo MO N R
H HHIERTOFH HHIERE g : TE ) TR .
[ _ L
RS 4 5 (5 Z DA
T TH T TH T T TH
1 R 178, 733 2,407 181, 140 2, 407
2 BEWRUE 43,219 43 43, 262 43
Ha 221, 952 2, 450 224, 402 0 0 0 2, 450
1 0% #HEH 26, 0067
5 tHaBE®E 10,7317M
1 HE2HHR 83,501 4,263 87, 764 4,263
B
4 BTRE % | 1,615,773 891 1,616,664 891
— R
— 38 —

i
= A
X 4 & o g
TH T
A 1,485 | OWkBA# (g 367
02 #&Kk 201
TREASE 201
fakt 201 03 fkEF24% 144
i 12
HRFY 58
Wik B T 24 699 EhihF4 50
Wik BRI T4 ML A AR e 24
i 22
LHE 22 S By d R = E 22
O;&%;%%(?xﬁﬁﬁ 485
417
X N XA NS FAE AT A A S 417
03 Hik 5 F- 24 % 68
= N2 A ASFHEEAT A BT Y 36
3= N X A ASFHEEAT AR B T4 32
O D NI EHBE R FE CHRBER) 714
01 il 485
X N H A SR FAR AT A A S 485
03 Mk 5 F- 2 %% 229
= N2 A ASFHEEAT A BT Y 122
/3= N X A ASFHEET AR B T4 107
OF BRI TG HEYE (FREBER) 841
01 M 583
X N XA SR FAR AT P S 583
03 MkE T4 % ) 258
PR— 2 A DRFHEE B HART Y 139
= N2 A ASFHEEAT AR B T4 119
A 43 O PBGEEN SRR (FRBE M) 43
01 M 43
= N XA B FAE AT P S 43
fakk 1,117 | OBkBAH# (g 4,263
02 F&kt 1,117
Tk B G R 1,117
kB Y% 2, 985 03 fkEFH4% 2,985
i 67
HRFY 418
B 161 BhFY 366
IRF R £ 8 75 - 24 2, 000
H=BIE T IR SRR 134
04 LA 161
M EIFHAARE 161
A 650  ONTRt & —FHEEE FE ESHER 891
01 M 650
8= B A DS FHEEEAT B 645
Wik B 24 241 = [ F A AEFHEE(T ARG B R AN T2 5
10 HEH




1 0% #HEZ 26, 006
5IH tEBEE 10, 7317M
WO OB oo MO N R
H HHIERTOFH HHIERE # : E %) bl §
ERkie | HEE | zof AR
T TH T TH T T TH
6 M7 RXIEARE 71,222 3, 644 74, 866 3, 644
#
7 bR 5,899 190 6, 089 190
#
8 AJEFEAH 29,801 1,743 31, 544 1,743
pritg ¢
B 1,910, 206 10,731 1,920,937 0 0 0 10, 731
1 0% #HEZ 26, 006FFJ
6 {RIEEKEE 37571
3 KRB 158, 963 375 159, 338 375
— 40 —

i
= Hj
X 4y & o &
TH T
03 MkEF4% B 241
= [ 2 A DRFHEE B HART Y 129
= N2 A ASFHEEAT AR B T4 112
1 1,896 | OWkEAF# (g 806
02 f&pt 420
Tk B G R 420
9 &kt 420 03 JikE 4% 332
it =24 26
HIRFY 145
3 B TE 1,274 B FY 115
ik BB L A A R 4 46
Sy 54
4 JLEHE 54 LSy R = B 54
OMEMHEXF R EYE FEBER) 2,838
01 M 1,896
= N2 A B FAE AT A S 2,100
S— [ F A AEFHEE(T ARG B R AN T2 A204
03 Hik 5 F- 24 % 942
= N2 A ASFHEEAT A B IR T Y 506
= N2 A LASFHEEAT AR B T4 436
1 R 143 | OUbM%efi - fRitEF3E (HESEEBR) 190
01 M 143
X N XA SR FAR AT P S 143
3 BkE Y 47 03 kB T4% 47
= N2 A ASFHEET A BT Y 25
= N2 A ASFHEEAT AR B T4 22
1 R 1,201 | OAJEFRE GBI EE G EH) 373
01 M 258
= N2 A B FAE AT A S 255
3 BkE Y 542 — [ F A AEFHEE(T ARG B R AN T2 3
03 MkEF4% B 115
= N2 A ASFHEET A BT Y 62
= N & A LWSEHEEAT AR B T4 53
OAEF R HES F¥ HEESHER) 1,370
01 M 943
8= B A DR EEAT B 935
— | F A AEFHEE(T ARG B R AN T2 8
03 MkEF4% B 4217
PR— [ 2 A DRFHEEA B HART Y 229
= N2 A ASFHEEAT AR B T4 198
1 260 | Oft 2 AEHESEHES FE FEHER 375
01 M 260
8= B A B FHE AT B 255
3 BkE YL 115 S— [ F A AEFHERE(T ARG B R AN T2 5
03 Mk 5 T2 % 115
10 HEH

- 41 -




10#% #E#% 26, 006T-J
610 fREEARFE 375
WMioEom oo MO N R
i WENOR | WEE : z [ W ‘,
EREHE | HGE | 2ol A
TH TH TH TH TH TH TH
B 174,176 375 174, 551 0 0 0 375
— 42 —

i
X | e "
TH T
= [ 2 A DRFHEE B HART Y 62
= N2 A ASFHEEAT AR BT Y 53
10 HEH

— 43 -




